Rig® ur Maths = "4 Level Numeracy & Mathematics
Name: Date:
A&~ MNU 303a Bronze Outcomes 1-4
& Calculate
59-26 8567 8267
+ 4-38 6799 x 7

311581

What is the lowest common
multiple of 4 and 6?

Z~. MTH 305a Bronze Outcome 3

e Change £250 into euros using
the exchange rate provided.
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.. MNU 309a Bronze Outcome 4

& Express 51 as a product of
prime factors.

Z~ MTH 305b Bronze Outcome 2

CostSmart! )

& How much D e o
does it cost v ¢
foradozen |5 OG0 S
eggs, ablock | fhei Tan  pocker

of cheese ® O ®
and a can of | spies Eggs Cheese
cola from Ry i
CostSmart? | beg dozen block

A%~ MNU 309b Bronze Outcome 1

My score:

What have I learned so far 52?
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Rig@ur Maths = " Level Numeracy & Mathematics
Name: Date:
A%~ MTH 314a Silver Outcome 1
& Simplify
(a) 4a — 5b + 2a + 6b

(b) pxgq

What is the 3-figure bearing

#.. MTH 317b Silver Outcome 3
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a scooter to travel
120 miles while travelling at an
average speed of 60 miles per
hour?

-
from Glasgow to Zurich?
North
%~ MNU 310a Silver Outcome 4
& How long would it take

What is the probability of
selecting an odd number, at
random, from the list below?

1,3,5,6,8,9,11,12,15

Give your answer as a fraction
in its simplest form.

A%~ MNU 322a Gold Outcome 2

Calculate the size of the missing
angle in the triangle below.

4%~ MTH 317a Silver Outcome 3

My score:

What have I learned so far 52?
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